Efficiency vs dr
x 0.2
<
©0.18
20.16
c
Q
50.14
=
®0.12

0.3
0.08f-1:
0.06F-{+
0.04fHH1 -

0.02|}4-
g o= pie
§ LT E “?Tcgp'ju?fszs
—_— e INEWTOLDSAMPLE-reIfZ
AELEE Ii!III |||| ”u f : :
1H al |”|| |||u.‘ :
107 1072 107

1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.02
00.018F
) E
%J.O].G_
®.014F
> o
D.012F
@

2 E
£ 0.01
@ E
0.008[
0.006F
0.004F

1073 1072 107t
AR(TP, jet)

Efficiency vs pu

50.05
o
9.045
20.04
(]
®.035
=
20.03
0.025
0.02
0.015
0.01
0.005

..........................................

—
P

L

Ratio

°8%~"10 20 30 4o 50 60 70 B0
Pileup



	Contents
	Page 1


